N—=F> MY E25EILAFRDEIYMIAKSEINIEXS
7/4 FEV-)
5F—AhAx27'0v9 &IIN-T LEI2F—AhiREh—FA> MEH

FHIOE ABIN—-T
F#%OE CDIN-T

4F—hx270Y9 &IN—T ERI2F—ADRE M—FA> MEH

Bi= =30 AJd—b =¥ Bd—bk =4
A-1 A-2 SFCiRH: B A— A—4 &)118]
1| 9:00 Lo0vs1 4t
NEIRHE Fo—A—Fima| 2T BRILFC A $EIRSC NSPHL &
- — Fo—AN—FIEM — - FZ5
> | 9:30 B-1 Ve o ?_2 AN-F 1k B-3 L vl B-4 F%32SC
SFCikHt B INZFI BRILFC A =INLE NSPH,& L&
A-2 A-3 2T A-5 A-1 NI
3 [10:00] _ 4 s 0 ” ‘ 3 vs 5 ‘
FA—FI—FIBH fRILIFC A =)y F%iESC SL&IfE |SFCIRE B
B-2 B-3 F%ESC B-5 B-—1 S
4 110:30 o 5 vs 0 = ] 6 vs O
N e% =L #EIRSC FLEIE SFCixH B | #RILFC A
A-5 A-4 &Ik A-1 A-3 SFCiRH B
5(11:00| _ . 1 vs 1 ‘ 3 vs 2
FZiESC F&EIRSC NSP}L& FEBER BRILFC A 2118y
- - FCA - — FA—AN-FIBHR
6 |11:30 B 5 0 ve 1 B—4 BRIl B-—1 - B-3 AN-Fr
FaR=chinge) NSPH.& F%32SC| SFCIRH B =L #EIRSC
A-3 A-5 =30l A-2 A—4 JCZFIL
7 [12:00 7 vs 0 . ‘ ‘ N vs 0 i
gRILFC A F%ESC F&IHE |F—AN—FIE FEIRSC NSPH.&
B-3 B-5 S B-2 B-—4 - AN-FRH
8 [12:30 1 vs 2 _ ® . vs 1 e
&) I|\] FaR=chinge) #EIMSC JSZF) NSP#L& F%ESC
A-1 A—4 SFCHR B A-2 A-5 JCZFIL
9 |13:00 S 2 vs2 | 8 s 0 ‘ ”
SLEIE $EIRSC NSPH& |F/—AN—FImi FZESC | e
B-1 B-4 Pak-317- 1 B-2 B-5 BRILUFC A
10|13:30 0 vs 6 o vs 0 )
SFCikHt B NSPH.& FA— A -Frti ATV L& #EIMSC
C-1 CcC-2 MFCE C-3 -4 ILFC B
11|14:30 1 vs 2 R - vso © ®
DESAFIO SFCiRH A |Esse Cubic ABzkSC KN FEFC
D-1 D-2 XS D-— D-4 |
12|15:00 2 s | EESC 3 Vs 5 Al
MFCEHa Esse Cubic [DESAFIO| fkILUFC B FLE&FC SFCIR® A
C-3 C-1 RILIFC B -4 -2 F
13|15:30| =~ 1 ve3 < c w7 C RAFC
EBzkSC DESAFIO MFCE X SFCiwH A |Esse Cubic
D-3 D-1 I D-4 D-2 SFCIRH: A
14| 16:00 0 vs 7 . A vs 1 _ .
fRILFC B MFC=#4, |DESAFIO FLE&FC Esse Cubic | #BZxSC
- - - - Esse Cubi
15]16:30 C-4 L vea C-1 i‘L%_IiC c-2 Ve 0 Cﬁ3 sse Cubic
| DESAFIO MFCE#y| SFCIxH A #BzkSC fRILFC B
D-4 D-1 DESAFIO D-2 D-3 EX
16(17:00 4 vs 2 o - vs O ABZRSC
FLEFC MFCE#4) |SFci+ A| Esse Cubic fRILFC B AN




N—E>MhYTE25E2BFRIEITYMIASHNRKXS

7/4 F8U-)

i |oemremn| Galre p | mmec | Tomac | BN | @R | mA | @%R| e

n%ﬁszlﬁﬁ—ﬂ 0313?22%25?3 7 |10 ] 8 2 | 2
;«—/:»_—:I%m 1 C_) 0 4 C_D 0|4 C_) 018 C_) ol 12 17 0 17 1
surcal2 o 3]0 o 4 4?17?0 6 |13 | 8 | 5 |3
%%Igc 2%20341:4 1%1 2 4 11 -7 4
$;;$SSC 3 f 50 t s lo : 711 % 1 1 4 21 | -17 5
st p| o | B | neen | neam | PR | B | X8 |@xR| m

SF?:i}_itTj B—H 0 : 9|0 : 120 ? 6 |0 ? 6| © 0 33 -33 5
/?7\_?311 9 C_) 0 5 C_> 0l1 % 113 C_) ol| 10 18 1 17 1
;JTI;I 12?0 0 ?5 1 ’2 1 32 3 14 9 5 4
NSP_;%6(—)01%12?1 1?0 10 | 10 | 2 | 8 | 2
n;;ﬁ;ﬁ6900232—10—1 6 8 5 3 |3
DESAFID | SFCIR: A E(r%;c ol B | B8R KRR | SRR IR
DECS_AIiIO71 1 f 213 ? 110 % 0 4 4 3 1 2
SF;&;A 2 C-D 1 1 ? ol7 C_D 1 9 10 2 8 1
E(B;gc 1 t 3|0 : 1 2 C_) 0 3 3 4 -1 3
;30%01:7032 1 1 o | 8 | 4
M FDC-T‘;%M EssDe_Ci bic ﬁ&IEjJ_Fz B ;I?éljc B B R | BR| B

MEC_'.%’A—H 2 C_) 117 C_D 0l2 ’ 4 6 11 5 6 2
Essz_cibic 1 f 2 5 ? 011 : 5 3 7 7 0 3
g&E_FéBof7ofs 0:5 0 o | 17 |-17 | 4
;tliésc 4 C_> 215 C_> 1|5 ? 0 9 14 3 11 1




